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Each day when you come into class, there will be a problem projected for you to c%ete. Find the appropriate box to

complete the problem in and work on it when you arrive
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Find all solutions of the equations.

/
1. cscy= V2 '-c'n} F

L By

ﬂ}zﬂ'm;\wor =
2417‘—2% M

= g— -ﬁ | .
Z 4 ‘é/‘"*zy’z'J

23 ¢ [ Sink =

7

i SN
—of — 5

8)n X

+217n "‘; }z'm-t— r

e ™

Pl |
PR



Nate:

7-2-2
Find the solutions that are in the interval [0, 2r)
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Express sin 89%41’ as a cofunction of a complementa
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Find the exact values. Sim (" ,_5/
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Verify the reduction formula.
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Date: 7-4
/ / Find the exact values of sin 28, cos 26, and tan 20 forsin 6 = 35-' 270°< 6 < 360°
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Find the exact values of sin 6/2, cos 6/2, and tan 8/2 forcsc B = --E 9C}° <f<0°
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Use the half-angle"formula to find the exact values of cos 165°.
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Use sum-to-product formulas to find the solutions ?Ithe e}uaﬁa.%.

1) sint+sin 3t = sin 2t 3 .5})726':0 2-&056 ,/ =0
75 B2 tos $70750 26 402 g, e
3 Sin 26 eosT =S 20 =7 2 h

ULy 29)
R sin 26 cost -t =0 K @ Aaa
Smat(2eost -1)=0 _53___5/,,»,}3
2) cosdx-cos3x=0 m /\

-2 Sin ‘{————H"’J‘m——’éf 0 &""f"o Sin%
—.Zé?m_zg(& j’ﬁ jg =Tin %:”"’

K z27r
= 2
T V—"inthuded &)
Date: 7.6 L wﬁ?
I/ g7

Find the exact value of the expression.
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3 / Write the expression tan( arcos x) as an alg braic expressnon in x forx > 0.
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